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; 100kN/mM#%#BZ % — -~ = —|3mzBz3%| — ~ — — — | 100kN/mMZ# 25 — - ~ — — |3m%#B2% - ~ — — —
Zhnst 1.00 ] 000 ~ 645 81.25 | #nst | 0oo ~ 645|264 13.35 ZThLLst 1.00 | 5.00 ~ 1020 81.25 | NS | 5,00 ~ 1020 2.64 13.356
2 100kN/mM#%# 8% % — -~ = —|3mzEBz3%| — ~ — — — | 100kN/mMZE#B 25 — - ~ — — |3m%#B2% - ~ — — —
zhnst 1.00 ] 000 ~ 523 65.19 | Thst | 000 ~ 525216 10.92 ZThLLst 1.00|5.00 ~ 7.70 65.19 | =hS | 6.00 ~ 770216 10.92
3 100kN/mM#%#BZ % — -~ = —|3mZEBz3%| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
zhns 1.00 1 000 ~ 597 74.81 | Fhst | 000 ~ 597|273 13.80 zh st 1.00 | 5.00 ~ 10.00 74.81 | #hs | 5,00 ~ 1000|273 13.80
4 100kN/mM#%# 8% % — -~ = —|3mZEBz3| — ~ — — — | 100kN/mMZ#B 25 — - ~ — — |3m%#B2% - ~ — — —
LS 1.00 | 0.00 ~ 669 84.44 | Fhst | 000 ~ 669197 9.93 Tnelst 1.00 | 5.00 ~ 890 84.44 | FnS | 500 ~ 890|197 9.93
5 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %5 — - ~ — — |3m%EiEZ D - ~ — — —
LS 1.00 | 0.00 ~ 760 97.30 | #nust | ooo ~ 760|235 11.86 zhst 1.00 | 5.00 ~ 1052 97.30 | #hs | 65,00 ~ 1052]2.35 11.86
g 100kN/m##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — — ~ — — |3m%EiEZ S - ~ — — —
LS 1.00 1000 ~ 735 93.66 | FhLst | 000 ~ 7.35| 1.88 9.49 Tnelst 1.00 500 ~ 9.77 93.66 | ThES | 500 ~ 9.77 | 1.88 9.49
- 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — — ~ — — |3m%EEZ S - ~ — — —
LS 1.00 | 0.00 ~ 578 72.33 | #FNLS | 000 ~ 578|1.78 9.01 Tnelst 1.00 | 5.00 ~ 6.50 72.83 | TS | 500 ~ 650 | 1.78 9.01
s 100kN/mM##BZ % — -~ = —|3mZEBRB| — ~ — — — | 100kN/mM%Z#B %% — - ~ — — |3m%EiEZ D - ~ — — —
Zh s 1.00 | 000 ~ 474 59.09 | FhLlst | 0.00 ~ 0.00)| 1.66 841 Zhs 1.00 | 5.00 ~ 5.00 59.09 | ThES | 500 ~ 5.00 | 1.66 841
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZN LS ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZNLs ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZNLs ~ Th Lot ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
Zh LS ~ ZNLs ~ ThLLst ~ LS ~
100kN/mM%#EZ % ~ ImEHEZD ~ 100kN/m%#BZ % ~ ImEBZD ~
TN LS ~ ZNLS ~ ThLlst ~ LS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
ZThLSH ~ ZnLs ~ ThLlst ~ TS ~
100kN/mM%#EZ % ~ IMEHEZD ~ 100kN/mM%#BZ % ~ ImEEZD ~
Zh LS ~ Zh s ~ ZnLst ~ Zh LS ~
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